What does “pharmacokinetics™” include ?
(A) Pharmacological effects of drugs

(B) Unwanted effect of drugs

(C) Chemical structure of a medicinal agent
(D) Distribution of drugs in the organism

Pharmacodynamics involves the study of
following—

(A) Mechanism of drug action

(B) Bio-transformation of drugs in the organism
(C) Distribution of drugs in the organism
(D) None of these

“Affinity” is a measure of—

(A) Drug’s binding to plasma proteins
(B) Drug’s binding to a receptor

(C) Bioavailability of a drug

(D) None of these

Loosening of teeth, gingivitis and
hemorrhage occur in the deficiency of—
(A) Vitamin K (B) Vitamin B,

(C) Vitamin C (D) None of these

Recommended fluoride daily allowance is—
(A) 1.5-4mg (B) 600 - 900 gram
(©) 1kg (D) None of these

The 7th April is celebrated as the day every
year—

(A) Teeth Day

(B) World Tuberculosis Day

(C) World Health Day

(D) None of these

The life cycle of R.B.Cs is—
(A) 20 Days (B) 120 days
(C) 10 days (D) None of these

For relieving pain, which medicine is used—
(A) Antipyretic (B) Diuretic
(C) Analgesics (D) None of these
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Which route is most effective for rapid
absorption and immediate effect in the body,
the drug is given by—

(A) Oral route

(B) Intra muscular route

(C) Intravenous route

(D) None of these

W.E.F. stands for—

(A) World Economic Forum
(B) World Environment Forum
(C) West East Forum

(D) None of these

Devdhar Trophy is associated with—
(A) Vollyball (B) Hockey
(C) Tennis (D) Cricket

Minimum age required to contest election for
President of India is—

(A) 30 years (B) 35 years

(C) 21 years (D) 50 years

The book “My experiment with truth” has
been written by—

(A) Jawahar Lal Nehru

(B) Lal Bahadur Shastri

(C) Dr. Rajendra Prasad

(D) Mahatma Gandhi

Who the first Governor of Uttarakhand—
(A) Surjeet Singh Barnala

(B) Aziz Quresi

(C) Sudarshan Agrawal

(D) Dr. K. K. Paul

Who founded the “Ram Krishna Mission”—
(A) Ramanand

(B) Ram Kumar

(C) Swami Vivekanand

(D) None of these
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Which of the following teeth are lophodont—
(A) Premolar (B) Molars
(C) A & B Both (D) None of these

Brunner’s glands secrete—
(A) Alkaline mucus (B) Acidic mucus
(C) Neutral mucus (D) Water mucus

Ptylin is secreted by—
(A) Salivary gland (B) Gastric gland
(C) Digestive gland (D) Brunner’s gland

Saliva is secreted from—

(A) Pancreas

(B) Gall bladder

(C) Submaxillary and sublingual glands
(D) None of these

Salivary amylase is stimulated by—
(A) K (B) N
(C) HCO," (D) CI

Digestion is brought about by—
(A) Hormones (B) Growth factors
(C) Enzymes (D) None of these

Bulk of the tooth in mammals is made up of—
(A) Dentine (B) Enamel
(C) Pulp cavity (D) None of these

A pair of small lymphatic tissue prevent at
the side of root tongue is called as—

(A) Thyroid (B) Tonsils

(C) Epiglottis (D) Adenoids

Which one has a developed canine—
(A) Polar bear (B) Walrus
(C) Male elephant (D) None of these
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One common secretion of the salivary and
Brunner’s glands that plays a role in growth,
repair and regeneration is—

(A) Enterogastrone (B) Urogastrone

(C) Neurotensin (D) Somatostatin

Vomerine teeth are present in—

(A) Man (B) Reptiles
(C) Frogs (D) None of these
The function of tongue is to—

(A) Help in the act of swallowing

(B) Help in mixing saliva with the food
(C) Help in speaking

(D) All the above

Sona Nadi Wild Life Sanctuary is located at—

(A) Chamoli (B) Uttarkashi
(C) Pauri (D) Dehradun
Battle of Talikata was held—

(A) 1565 (B) 1726

(C) 1629 (D) None of these

Who was the British Prime Minister at the
time of revolt of 1857—

(A) Churchil (B) Palmerston

(C) Attle (D) Gladstone

The first census was conducted in India at
the time of—

(A) Lord Mayo (B) Lord Rippon
(C) BothA& B (D) None of these
The height water fall is in—

(A) Russia (B) Venezuela
(C) China (D) None of these

Maneshwar fairis held at ....... in Uttarakhand.
(A) Bageshwar (B) Champawat
(C) Pithoragarh (D) Pauri
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‘Mahasu’ is famous Devata for which
scheduled tribe—

(A) Jaunsari (B) Tharu

(C) Boxa (D) None of these
Mayawati Ashram is situated at (Uttarakhand)—
(A) Almora (B) Uttarkashi

(C) Champawat (D) Haridwar

Vasukital is situated in which district—
(A) Tehri (B) Nainital
(C) Dehradun (D) None of these

‘Indramani Badoni’ is also known as—
(A) Uttarakhand Kesri

(B) Uttarakhand Naresh

(C) Garhwal Kesri

(D) Gandhi of Uttarakhand

‘Hindustan Machine Tool’ factory is located
at—

(A) Ranibagh (Nainital)

(B) Raipur (Dehradun)

(C) Mohana (Almora)

(D) Kotdwar

Which ‘Tal’ is also known as ‘brother-sister
tal’ ?

(A) Masar Tal (B) Yama Tal
(C) Siddha Tal (D) None of these
Gastric enzymes are—

(A) Pepsinogen
(B) Prorennin
(C) Gastric lipase
(D) All the above

Which elements is the cause of etai-etai
disease—
(A) Hg
(C) Cd

(B) Pb
(D) As
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Vitamin C is—
(A) Ascorbic acid
(C) Lipoic acid

(B) Nicotinic acid
(D) None of these

Calciferol is—
(A) Vitamin A (B) Vitamin B
(C) Vitamin D (D) Vitamin K

Who was the author of ‘Malguddi Days™—
(A) Sarojni Naidu

(B) R. K. Narayan

(C) Mother Teresa

(D) Ravindra Nath Tagore

Kidambi Srikanth is a famous—
(A) Shooter (B) Boxer
(C) Shuttler (D) None of these

CBI stands for—

(A) Criminal Branch of Investigation
(B) Criminal Bureau of Investigation
(C) Central Branch of Investigation
(D) Central Bureau of Investigation

Where is Golconda fort—
(A) Jaipur (B) Hyderabad
(C) Delhi (D) Chennai

Kuchipudi is a dance form of—
(A) Andhra Pradesh (B) Tamilnadu
(C) Kerala (D) Orissa

Which article of our constitution has
abolished untouchability—

(A) Article 14 (B) Article 15

(C) Article 16 (D) Article 17

Which day is observed as United Nations
Day—

(A) 8 May

(C) October 24

(B) 7 April
(D) 24 May
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Among the following which is an input
device ?

(A) Keyboard (B) Printer

(C) VDU (D) Graph Plotter
Among the following who represents theater
artists in Rajya Sabha—

(A) Tendulkar (B) Jayashree

(C) Amit Sinha (D) None of these
Dhanush missile is the naval operational
variant of which missile—

(A) Trishul (B) Prithvi

(C) Agni (D) Akash

Antibodies are used or administered for the
purpose—

(A) To relieve pain

(B) To reduce edema

(C) To prevent infection

(D) None of these

Tooth brushes should be replaced every—
(A) One year (B) Two years
(C) 2or3month (D) None of these

It is a correct dental formula for a child falling
under age group 5-6 years—

12 C1 PM2 MO

( —_— e — —

2 b ?

2 1 2 0

2 Cl PM2 M3
B 3772 3
o 1 C2 PM2 M3
© 333
(D) None of these

Which of the following is vestigial teeth
found in human—
(A) Incisors

(C) Diphyodont

(B) Premolars
(D) Wisdom tooth
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Pulp cavity of teeth is linked by—
(A) Odontoblast (B) Chondroblast
(C) Osteoblast (D) Amyloblast

Carnessial teeth are modified for—
(A) Crushing (B) Grinding
(C) Tearing (D) None of these

Dental formula for human being is—

ALC,P,M, (B) L,C,P. M,
O L,C,P, M, (D) None of these
Wisdom teeth are—

(A) Last molars (B) Last premolars
(C) Incisors (D) None of these

Who bagged the best actress award at the
62nd National Film Award—

(A) Priyanka Chopra

(B) Vidya Balan

(C) Kangna Ranaut

(D) Rani Mukherji

Prime Minister Modi has launched the “Give
it up” campaign for voluntarily giving up—
(A) Use of tabacco product

(B) LPG subsidy

(C) Use of plastics

(D) None of these

Which organization has been awarded the
prestigious Gandhi Peace Prize - 2014 ?
(A) BARC (B) DRDO

(C) ISRO (D) CFTRI

Delhi became the capital of Hindustan for
the First time during the region of—

(A) Iltutmish

(B) Raziya Begum

(C) Balban

(D) Qutub-ud-din-Aibak
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Who is the present Governor of Reserve
Bank of India—

(A) Mr. Kasturi Rangan

(B) Mr. Ranga Rajan

(C) Mr. Raghuraj Rajan

(D) None of these

Who invented Radium—
(A) Marie Curie (B) Rontgen
(C) Edison (D) None of these

The deepest lake of Uttarakhand is—
(A) Naukuchiatal (B) Dronsagar
(C) Nainital (D) None of these

Where is the biggest paper factory of
Uttarakhand situated—

(A) Khatima (B) Lalkuan

(C) Haridwar (D) None of these
Binsor Wild Life Sanctuary located at—
(A) Dehradun (B) Chamoli

(C) Almora (D) Uttarkashi
Boggy gums seen in—

(A) Polycythemia (B) Pregnancy
(C) Both A& B (D) None of these

How many teeth are monophyodant in
human—
(A) 01
(C) 03

B) 02
(D) 12

Tricuspid teeth in human are—
(A) Incisior (B) Canines

(C) Molars (D) None of these
What is the pH value of saliva—
(A) 17.6 (B) 6.8

O 1 (D) None of these
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Tennin in significant quantities in—
(A) Soft drinks such as colas

(B) Caffeine

(C) Nicotine

(D) None of these

Blood is a—

(A) Adipose tissue
(B) Areolar tissue
(C) Connective tissue
(D) None of these

Who got the Master Dinanath Mangeshkar
Award 2015—

(A) Anil Kapoor

(B) Amitabh Bachchan

(C) Shahrukh Khan

(D) Akshaya Kumar

Blood 18 ieicu is nature.
(A) Acidic (B) Alkaline
(C) BothA& B (D) None of these

Mobility of teeth is measured by—
(A) Spectrometer  (B) Periotron
(C) Techometer (D) Periodontometer

Strawberry tongue is associated to—
(A) Scarlet fever (B) Measles

(C) BothA& B (D) None of these
Pulp cavity of a tooth contains—

(A) Food

(B) Blood

(C) Mass of capillaries
(D) Odontoblast

Wisdom teeth in human is—
(A) 3rd molar & 4 in number
(B) 3rd molar & 2 in number
(C) 2nd molar & 4 in number
(D) None of these
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The delicious food generally makes mouth
watery. It is due to—

(A) Harmonal response
(B) Neural response
(C) Olfactory response
(D) Optic response

The Buccal cavity is limited by—
(A) Palate

(B) Tongue

(C) BothA& B

(D) None of these

Labial prenulum connects—
(A) Lip and gum

(B) Palate & check

(C) BothA& B

(D) None of these

Which of these mineral elements are
necessary for development of teeth—

(A) Calcium, Phosphorus, Zinc

(B) Flurine, Phosphrus, Calcium

(C) Zinc, Magnesium

(D) None of these

Which of the following vitamins is helpful
in Dentine formation—

(A) Vitamin C — Ascorbic acid

(B) Vitamin K

(C) Vitamin A

(D) None of these

Present in upper lip of human being is—
(A) Hiltron

(B) Philtron

(C) Liptron

(D) None of these
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SET-A
@R dIsF g@ ® Felld o9 | 1 55
FROT B
(A) BHe wfafwar
(B) T=1a wfafsan
(C) wror wfafswan
(D) 3fte wfafsran

7@ e fFas g i e 2
(A) e

(B) i

(C) Awd BHI

(D) ¥ | &g &l

“ At HuEe ! Siedr 8-
(A) i3 T TG

(B) T, T A

(C) ATd B3Al

(D) T8 ¥ S T

e ¥ wF ¥ ofi 7@ 30 @ e @
fau smavaw -

(A) SfesrEm, wreery, fis

(B) T, WEhRE, Hicerm

(C) T, Briferm

(D) T ¥ & &

e ¥ Q4 i @ faafm =9 fmfor o
TEEE B

(A) faafim C - twnifds e

(B) faarfim K

(C) faarfim A

(D) T8 | Jig 78l



At 3l i gEist % Wy fgg & SR e
T g B a] G R I I AR T
3R foren w0l @ w1y H 1 T

89. fHeg =1 w9 o1
(A) frarsit
(C) 353wy

(B) drTSit
(D) gaisit

o
=

------------

(B) |3 T
(C) 9 T
(D) TR T

‘TEW oW B WA sHe Wet oref 3
(A) 5ig ST

(B) qemEd @

(C) =9 B

(D) 7= g

92.

93. ‘M’ IR FT TgIH €I &

(A) At

9.
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95.

96.

97.

98.

99.
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